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51, The first cylinder below has a height of
10 inches and a radius of 4 inches. For
the second cylinder, the radius is
doubled to § inches and the height is 10
inches. What has happened to the
volume of the two cylinders?

A. The volume of the second cylinder
is 4 times that of the first cylinder.
‘The volume of the two cylinders is
the same.

‘The volume of the second cylinder
is half that of the first cylinder.
‘The volume of the second cylinder
is 3 times that of the first cylinder.
‘The volume of the second cylinder
is double that of the first cylinder.
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How many of the smaller cubes will fit
inside the larger box? (Figures are not

drawn to scale))
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Nancy is watching her nephew, Drew,
arrange his marbles in rows on the
kitchen floor. The figure below shows
the progression of his arrangement.
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Which expression below will show how
many total marbles there are for n rows?
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‘William drew a picture of his property
to help figure the area of the lawn. He
needed to know how much grass seed
and fertilizer to buy. The shaded area.
represents his house. How many square
feet of lawn does he have?

A 10000sq. .
B. 12,600 sq. fi.
C. 147605q. ft.
D. 15000sq. ft.
E 500sq.ft
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The length of the side of a regular
octagon is 4 inches. What is the
perimeter of the octagon?

A, 24inches
B. 28 inches
C. 32inches
D. 36 inches
E. 40 inches
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